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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any four questions.

3. Each question carries 9.5 marks.

¥ (i) Define SAR. Explain with an example. (4)

(i) Explain retro-synthetic approach for any drug
molecule. 4)

(iiiy What is the difference between pharmacodynamics
and pharmacokinetics studies of a drug molecule?

(1.5)

9. (i) Write short note on any one of the following :

(4)
(a) DNA based antiviral drugs with example

(b) NSAIDs

o 3
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(i1)

(111)

e ciiti)

(ii)

(iii)

(i)

(iif)

R

(i)

(iii)

2

be the synthesis of vitamin B12 by

Descri
(4)

fermentation.

s? Give one example.

What are barbiturate
(1.3)

Give the synthesis of any one antilaprosyl
drug. (4)

Define the term pharmaceutical aids. Give two
examples with their uses. (4)

Explain surface, submerged and solid-state

fermentation process. {1.5)

Mention the side effects of thalidomide and
cetirizine. (4)

Explain different steps in drug development.

(4)

Give two examples of drug molecules derived
from plants. (1.5)

Describe the fermentation process for production
of citric acid. (4)

Define following terms with suitable examples :
(2x2=4)
(a) Central nervous system agents

(b) beta-lactam nuclei based antibiotics

Define the term ‘prodrug’ with suitable example.
(1.5)

(1000)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt two questions in all.

3. All questions carry equal marks.

1. (a) What are Cosmetics? How are they classified?

(b) What is the role of talc in talcum powder?
Describe briefly any two differences between
talcum powder and face powder.

S
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(c) Write the characteristics of a good shaving creamo
What are various ingredients present in g2 face

cream?

(d) Differentiate between a hair shampoo and 4
conditioner. Give evaluation parameters of

shampoos. (4,5,5,5)

25 Discuss shelf life of a cosmetic product. Give
suitable examples in following face preparations.

(1) Curative
(i1) Protective
(iii)) Decorative

(b) What are sunscreen lotions? Discuss the role of
ingredients used in the manufacturing of these.

(¢) List one merit and demerit of using lipsticks. Write
the properties of a good nail lacquer? Name a
substitute of acetone in Nail polish remover.

(d) Explain briefly various categories of hair dye.
(4,5,5,5)

3. .
(a) What are emollients 2 What is their function in
various skin products ?
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(b) Wﬁtﬁ- short notes on any two :

(i) gﬂmntlal oils

B

‘Hair spray
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%

Write your Roll No. on the top immediately on receipt

of this question paper.

All questions are compulsory.

Fill in the blanks : (4x14=2)

command is used to create diagonal
dots in LaTeX.

(i)

(ii) To use PSTricks, which package is included in
the preamble

(iij) ———— tag is used for writing a paragraph of
any text in the HTML.

r.T.0.
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(iv) The ———— peamer command is used o show

the elements of a list one point at a time.

2. Attempt any eight part: (8x2=16)

(1) Cm:rect the following input as per LaTex
commands and write output also $x = ¢ ang

ﬂy = 53 then $ frac{a}{B} =
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(vi) Define
(a) URL

(b) Hyperlink

(vii) Write the following to postfix expressions

ol B
o

(a)

(b) 1+3yx-1

(viii) Write the output of the following LaTeX
command

\begin{eqnarray*}

e~x & = & \frac{x"0} {0!}+\frac{x"*1}{1!}
Hfrac{x"2}{2!}+\frac{x"3}{3!}+\cdots\\

er-1} & = & \frac{{(-1)}"0}{0!}H\frac{{(-1)}~1}{1!}
Hfrac{{(-1)}"2}{2!}H\frac{{(-1)}"3}{3!}+\cdots\\

& = & \frac{1}{0!}-\frac{1}{1!}-+\frac{1}{2!}
frac{1}{3!}+\cdots

\end{egnarray*}

(ix) Write the commands using PSTricks to draw a

picture of a circle with a shaded sector of radius
5 cm.

T
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(x) Write the commands using PSTrickg draw ,

e graph of f(x)=\/; in the interval [0’]].

<

1y four parts: (4><5=20)

presentation with the following slides
Beamer :

itle- Group; Author- ABC; Institute-
. University

G with binary operation - is
for a, b € G, we have
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Slide 4: Thank You.

(ii) Write a code in LaTeX to typeset the following :
Let 6 be a smooth parametric surface. Then the
surface integral of f(x,y,z) over a (independent
of subdivision) is

n
f f fGoy,2)dS = lim > fCi vio7i) A Sk
o k=1
where (xg,Ve2k) €0 provided this limit
exists.

(iii) Find the errors and write the corrected
LaTeX source code (highlight your corrections
using underline in the answer). Also, write its
output.

\documentclass{article}

\title{Limits of x™}

\author{ABC}

\begin{document}

\titlepage

$f(x)=x"n$ for n=1, 2, \cdots at $\pm \infinity$.
\begin{enumeration}

\item $\lim_{x\rightarrow Hinfinity} = Hinfinity $ for every $n$.

\item $\lim_{x\rightarrow -\infinity} x"n = \left\{\begin{array} {cc} -\infinity & n is odd\\
Hinfinity & nis even \end{array } \right.

\end{document}

FT.0.
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(iv) Draw the graph of the function y=y% (Sini-)z
farg<xs2 using PS Tricks by labelling the

graph and axes.
(v) Make two HTML webpages with the first page

having hyperlink:
s.du.ac.in/courses/BABSc/BABSc.html

-
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(b) Discuss the advantages and disadvantag
€S of

pesticides.

(c) Why organic pesticides preferred over synthet;
€lic

pesticides?
(3 * 5)3 ,3)
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4. (a) Which class of pesticides containing -CONH-

group belong? Discuss their mode of action.

(b) What are Antifeedants and their role in pest

management? Give suitable example.

itages and disadvantages of

s (3.5,3,3)

esis and mode of action
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(b) Give the name and structure of any four plan
n

~ based pesticides.
e )
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1. (a) Expand the following (any five): (Ix5=5)




1678 3

(vi) The use of bio resources by the, Multinational
companies and other organizations without any
systematic approval from a nation or its

related people is known as Bioprospecting.

2. Explain how patents can be registered in India with
the help of suitable flowchart. What are the basic
criteria of Patenting? (7)

3. Differentiate between (any Two): (2x3.5=7)
(a) Infringement of Trademarks and Passing-off
(b) Bio-prospecting and Bio-piracy

(¢) Process and Product patent

4. (a) What has led to the establishment of TKDL by
the Government of India? Discuss the setup of
TKDL. (3)

(b) What is a domain name? What are the safeguards
provided to protect domain names under IPRs.

(2)

5. What is a Database? List various Biological
Databases. Discuss the objectives and provisions -

Datébase protection und.er IPR laws. (7)
3 P.T.O.
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in India. What amounts to Copyright
nt? Discuss the protective measures
st copyright i,pfringcmcnts under

(7)
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2. (i) Write short 10t on any one of the followipg .
. 1

(a) Antilaprosy! drugs

(b) Cardiovascular drugs (4)

(i) Describe the fermentation procedure for
~ synthes 4)

between drugs and poisons. (1.5)

I nervous system agents? Give
h structure. (4)

“:ﬁ,lfi'cation of following
3 (2)(2:4)
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s i A (1x4=4
(1) Match the following )
T
B
Column A &0l
Acyclovir

Streptomyces griseus

Glyceryl nitrate

Antiviral agent

Cardiovascular drug Lysine

Escherichia coli Streptomycin

(iii) Write the chemical reaction for synthesis of any

sulphacetamide. (1.5)
. (i) Mention the structure of the compounds A-D.
(4)
NH,
NH; O c

NH,O0H 0 NaHSO
— g i c (CH1):80,

Diazepam
Cl

(i) Describe the fermentation synthesis procedure

for vitamin C. (4)

®.T.0.
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I structure of cephalospori
in

(1.5)

1681

G'hemica

(iiiy Draw the
and gjgmptamycin.
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Your Roll NO.areeeess™
(¥

Maximum Marks : 65

I. Write your Roll No. on the top immediately on receipt of this question paper.

2. This question paper has two sections. Attempt any TWO questions from each

section.

3. You do not require the use of R or Excel software to answer any question.,
Wherever asked, mention/discuss the command/function/syntax, as required in

the question.

4. The questions in which R or Excel is not mentioned, the answers should be based

on your own calculations.

N o e

Statistical tables are attached for your reference.

be used throughout the paper.

BrEl & foe fdw

Use of a simple non-programmable calculator is allowed.

Answers may be written either in English or Hindi; but the same medium should
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SECTION A

1. (@) A college professor needs to determine the average spending by students of

her college. To conduct this research, she chooses a sample of 30 students
from her own course.

@Whmhmpmg method has been used by the professor? Critically

trimmed mean in R (3)

s
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(%) ¥ W P 9 v 1 2 e g o e e T T T

| s T R 1 e & et gt o st e 600 B, 3 AT
n 30w AR P e o s s 2
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he "mplo coefficient of correlation between marks in
itics and English. Interpret your results. (5)
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(i) Calculate the Z scores of Mathematics marks. Are the

outliers?

ion of
(b) Suppose a University adopts the following grading system for conversio
marks to grades :

¢
) _.\ 4 5.‘“‘: : 80 80
i Nt l’-Ly:. c 77 £ b
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” L
LS

: 5" variable into grades using
ﬁmﬂ'm 3)

' me.-s.a, -m SrRLIe . 1,
ﬁmum

v—v-“" . ,

”sé i ;“'-__:-:"., '-“ - (3)
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(i) TR SR SRR ¥ 5 @ A wwmy @ wfaed o A A T

(il) TR & Y R 7w A e ) T B IR E

(|) 77 A & fvafremm s @ i 4 qm & fo FeatfE A o
FYAET B

% | 0T FUT | 65- 657
80 |ofry

IF W= &1 SUART #X@ “HE” WA W H fw A A a5 @ o vadw e
o) sitesl A (a) I P w9 A wEgT T

() = =i snaeR Fefetem siws e m 2.9, -5, 3,7, <10, 12, 19, -4
1, -6, -221 o & W FeEa g & F B, IAE v e @ fw R weie B

SECTION B

4. (a) Consider a harbour where ships either arrive on time or they arrive late as
per their scheduled timings. If on an average, one out of 10 ships arrives
late, find the probability that out of a total of 5 ships scheduled for any

single day, at least 4 will arrive on time. (5)
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: . . o Pay ility in
(b) Explain the Excel function that can be used to calculate the pmhnblhty

(c)

(d)

5

(a). (3)

A soap manufacturing company was distributing a particular brand of soap
through a large number of retail shops. Before a heavy advertisement
campaign, the mean sales per week per shop was 140 dozen. After the
advertisement campaign, a sample of 26 shops was taken and the mean
sales per week was found to be 147 dozen with standard deviation of 16
dozen. At 5% significance level, can you say that sales have increased because

of the advertisement campaign? Why or why not? (5)

Suppose data on sales of soaps for these 26 shops in Part (¢) is stored in

RsExplain the R command for testing the hypothesis in (¢). (3.5)

(%) v sewms W faar o) e s A P @ aged # @ fase @ araa

21 af st 10 A A v e 2 A s B, A R v o @ fow P @
5 RS A A FH Y AW 4 D WG W UgAY & Wil w9 Ffr)

(@) vada waee &t awen o fme 3uaa (o) ¥ witwan o e @ e far s

Hear B

(1) v WA T A FA A e § e gEE @ W & v e i @ e

& faeor & @ 9 v Wil e s @ ged, wfa wan i gwe st

P R 140 T o s s @ are 26 TEMI 1 ufees fon w3 wf

qAE Fea fasht 147 @t o 7 stk W e 16 Tt wmn T 5% wEE
FRW, T 37 5 w6 ¥ 6 s s & awo faglt § o gf 27 =@ @
a8 ?

PTLO.




4386 8
=) ‘"’“‘“‘W(‘t)iwzsmamwﬁm““ R ¥ ki
? (w)*%m%mam R wwiE o wwen W)

5. (a) Inasample of 400 Parts manufactured by a factory, the number of defective
parts was found to be 30. The company, however, claimed that 2% of their

d products are defective. Check if the company’s claim is tenable
ﬁ 5% Wﬁf mﬁcmwe Interpret your results. (5)

es to test whether there is

age b ‘ﬁmﬂty between brands A and
ot
(2)

of the pooled sample variance
3)

it with the hypothesis that the two brands do not
ntly in quality at 5% level of significance? (2)
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40,
with unequal bins. Following are the breakpoints for the bins: 10, 20,

and 90 Kg. (4.5)

For visually impaired students, in lieu of 5(c): Explain the use of Is

command in R with the help of examples. (4.5)

() v FwEr g fff 400 wEE B v e i, Aol wida i HE 30 € TE
9 m,m%m%mﬁ?m‘%ﬁﬁﬁmﬁﬁ 29«)%1110’?%6{‘1"%:35?%
T FOR FT Al 5% HEE @ T W A 2 FT qftoTE & e FH

(@) ve Gefas @fer F wE AR 9 Rl & @e@ 3 e B A 9 fwEt & Fe @ F
WWMIWﬁWﬁW%ﬂAWdO@%WﬁW
& @9 ad T 250 U A1 TAlh AL B H 55 W F AT [T F AA
220 W @1 e S P @ I A

(i) @z A 3R B @ & e aed oraen 4 Fa 2 a1 A g8 e & o
I 3R Awfoue afteer o

(ii) T8 TReeue @ forg, ez Hue v AR geR WO A AFD D qA
Eakivciiend

(iii) = ¥o1 5@ aRtwer & SR A A 5%, WE & T W IuEE §
————————— e € | fet 9 27

(1) W AT T AT A qw W ¥eT S 5 e A 100 e 7 F 2, R A 30 AR
%wﬁaﬁmmi,ﬁ@ Ri('ehagﬁlm'él mﬁ@%m@w—gﬁ

PT.O.
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6. (a)

(b)

(c)

(d)

10
ﬁmmﬁwwm%m%mRmaﬁmﬁlﬁé%m

Iware fafag 2 10, 20, 40, 3 90 fat

FeeaiErd o1 @ g, 5 (1) @ v g R A Is FAE D I H IR
N B ¥ W)

The average number of tons of sugar sold in 5 countries in January 2020 are

as follows:

174, 161, 167, 171, 163, 141, 147, 154. Calculate the median, minimum,

maximum, Q1 and Q3. Is the data skewed? (6)

(R ]

Explain the meaning of power of a test. (

In an inspection by Weights and Measures Department to measure the quantity
of water filled in 2-liter water bottles, the inspector wants the mean amount
of water filled in these bottles to lie within +0.01 litre with 95% confidence
level. What sample size is needed for the same? Assume standard deviation

to be 0.05 litre. (4)

Explain the use of Excel functions F.INV.RT() and F.DIST.RT() with the

help of examples. (4.5)

(%) =a® 2020 ¥ 5 3 F AN 7 AN A A G W G 2 : 174, 161, 167, 171,

163, 141, 147, 154. ¥fezae, =<g=e@, A, Q1, AR Q3 & AT &) &= T2
faww 27

(@) v TRt i w1 3w w
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() cwmﬂmwéaaﬁamammﬁw@ﬁﬁn@
v 1, e e # e A 3 R TR R s Lo01 HeT @ W
059, e =R @ Aa A I F fore o TN AR A sasaa 27 A |
for e P 0,05 AT 1

':'ﬁsﬁanmmoﬁaﬂwﬁwﬂm% :




™
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M PR :
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0.00003
0.00005
000008
Q00011
0.00017
Q.00024
0.00035
L0050
000071
0.00100
00014
Do
00026
0.0036
0.004%
0.0064
040084
Q0110
00)43
00183
00233
0.0294

0037
omss
C o0ssy

0.0823
040985

0.1379
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APPENDIX E Tables 665

TABLE E.2
The Cumuiative Standardized Normal Distribution (continued)

Fniry represents arcs avder the cumulative standardized
nommnl distnibution froe — = 10 7

n.09
05359
0.5753
06141
0.6517
0.6879
0.7224
0.7549
0, 7832
08133
0. 53K9
0.8621
0,8830
09015
09177
09319
09441
0.9545
09633
09706
09767
09817
0.98357
09890
- D9Na
- 09936
09952
09964
09974
09981
0.99%6
0.99900
0.99929
0.99950
0.99965
0.99976
0.99983
0.99989
0999492
099993
0.99997

A:-'l ' PTO.
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666  APPENDICES

TABLEE3
Critical Values of ¢
Fur & particuly
! md&muffm&m.c repiusents
um“ﬂl“— o "_cu\|m ‘ ‘m:)_ :;'ﬂh“lly

= @) ansl @ specifiod upper-tail aca {a).

63,6574
99248
45407 5. 8409
37469 4.6041
23649 40322

3.1427 3.7074
2.9980 34995
2.8965 33554
28214 32498
2.7638 31693

2.7181 31058
2.6810 30545
2.6503 30123
2.6245 29768
2.6025 2 9467

2.5K35 29208
25669 28982
25524 28784
2.5395 ° 2.8609
15280 2.8453
151 28313
25083 2.8188
24999 28073
24922 27969 .
27874
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APPENDIX E Tables 667

TABLE E.3
Critical Values of ¢ (continued)

For a particular number of degrees of freedom, entry represents the eritical value of ¢ Corresponding Lo the
cumvlative probability (1~ a) and s specified upper-tuil arca (@),

26757
2.6737

PEO.
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TABLEES
Critical Values of F

910 25000 SCI0 28220 251 243
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4. What are the various factors which cause damage to
museum objects?
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Sr. No. of Question Paper : 4455 C
Unique Paper Code ¢+ 12133901

Name of the Paper . Acting & Script Writing
Name of the Course : B.A. (Hon.) SEC, LOCF
Semester % 11

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Answers should be written either in Sanskrit or in
Hindi or in English, but the same medium should be
used throughout the paper.

3. All questions are compulsory. Attempt question no. 4
in Sanskrit Language only.
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Giving the definition ot the dramatical plot, describe
the Principal and Subsidiary Plot in detail.
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3. All questions carry equal marks.

4. Answers may be writte either in English or Hindi but

the same medium should be followed throughout the

paper.
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2. Globalisation has opened new channels of Political
Communication, Discuss.

BAET X TSR T o) e T w I
21 e afwe |

3. Elaborate on the typologies of Political Leadership.

 the policies as means of




| K

6. What challenges does effective Political

G-
e




\

\ b

[This question paper contains 4 printed pages.]

Sr. No. of Question Paper :

U 9 B HHIE

Unique Paper Code
gHw TR @IS

Name of the Paper

Name of the Course

UISTHA T AR

Semester/Annual

[ /A

Duration : 2 Hours

a\g : 2 "ue

Your Roll No......ooooeeee
1310 D

3206001001

Cyber Sphere and Security:

Global Concerns

Skill Enhancement Course
[SEC]

I

Maximum Marks : 50

quites : 50

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt Any Three questions.
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3. All questions carry equal marks.

4. Answers may be written either in English or Hindi but
the same medium should be followed throughout the
paper.

= & faw Adw

1 W WE-TH @ fem & ew Ry g iR 2 wosE
e fofay |

2. &= 99 v & IR AR

3 o R e R

4. . T VI U w1 IR JFAon A1 B fFR v wmwr F 5w, AfFs
T IR F AAH UF S AR

1. What do you understand by Cyber Security ? Explain
in brief its objectives and role.

I T T2 § AT R TS 27 6D I v e
F a7 § IR iR |
2. Elaborate various existing cyber policies and follow

up actions,
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faftv=T weae argeR A va vd sad st @ frenfea
MY |

3. Explain the term Cyber Laws and its dimensions. Also
highlights the major grey areas in cyber laws.

A faf weom vd S FEE @t AR Hifegl AEEt
faftd ¥ y@ e &R W Sy vl |

4. Discuss different components of cyber security tools.
How crucial are they in ensuring cyber security?

mwm%ﬁﬁumﬁﬁﬁéﬂmmlw
e F ghied &0 & 98 e wea 27

5. "Cyber Security in banks and financial institutions are

the safest in digital world". Comment.

“Rites fra A I va facia qeae ¥ AR geen qdius
e 21 ot A
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2. Attempt Any Three questions.
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3.  All questions carry equal marks.

4. Answers may be written either in English or Hindi but
the same medium should be followed throughout the
paper.

Bl & fog fAdw

1 =4 WA-TE @ T & oW e e Uil s 9 s
g ferfEy |

2. sl = vl & IR AR |

3 @0 wEE @ 3 w9 2

4. 2O I U &1 IR Hdon a1 B fRd v Wy 3 difore, AAfe
T ITA & A T B B AMET

1. Define Political Communication. Explain its nature and
significance in contemporary times.

TR @R F g @t e A gEd
yFfa 3R AE F S e
2 Underline the key qualities of good leadership and

challenges of good leader.
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I Aged b W AN O I e A g @) Y
&ifoe |

3. What is Public Opinion. Do you think it plays a vital

role in a democratic system? Discuss.

AFAd R 27 T NS fAur A B vE AEdiEe goren
¥ v weaqyl sfier @1 fdew @ 27 fade #ifse

4. Discuss the methods and techniques which strengthen
both the Communication and Leadership.

H9R Td Aged aFl Y gge e arel gefodl 9 wiafeal &
faa=mr Fifome |

5. What is research? How Communication and
Leadership can be developed through research?

ey T 7 FEEUE D WA A GAR U Aged FA fawid
fepar s @R 27

6.  What is Psephology? How significant it has been in
gauging public opinion in contemporary times? Discuss.

P.T.O.
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Instructions for Candidates
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Write your Roll No. on the top immediately on receipt

of this question paper.

Attempt total five questions including question no. 1,
which is compulsory.

Use of non-programmable scientific calculator may

be allowed.

Attempt any five questions of the following. All
questions carry equal marks. (2x5)

(a) Define truncation and round-off errors. Give an

example for each.

y.1 A
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(b) Evaluate A%cos2Xx.

(¢c) Construct a forward difference table for the

following data set.

20 25 30

X 5 10 15

y 5962 [98ag | 9659 | 9397 | 9063 8660

6 d : : ;
(d) Evaluate IO] x4 by using Simpson’s 3/8 rule.
+ X

Take h= 2.

(é) Show that the symbolic relation between backward

difference operator V and shift operator E is given

E-1
by V = —— .
4 E

(f) Find the sum of the approximate numbers 0.348,
0.1834, 345.4, 235.2,11.75, 0.000354 each correct

to the indicated significant digits.

(g) Write down the order of truncation error of

Simpson’s 1/3rd rule.
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2. (a) Find f'(3) for the given data

1

&

2.0

2.5

3.0

x
f(x)

-1.5

-2.875

-3.5

~2.625

0.5

What will be the order of polynomial of f'(x). Find

the x for which f(x) is maximum or minimum.
(7)

5 I "
(b) Given actual value of X=§ and yzg. Use five-

digit chopped floating point representation to write

floating form of x and y. Calculate relative error

for x + y. (3)

(a) Use fixed-point iteration method or method
of iteration to solve the equation x = e * (take
X, = 0, perform first-four iterations). (5)

(b) Deduce Newton’s backward interpolation

formula. (5)

(a) Find the missing terms in'the following table. (5)

45

50

55

60

65

2

24

r.1u
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_K : r ~
(b) Evaluate rcz dx using four intervals (use
I

Simpson’s 1/3 rule). ()

5. (a) Fit a function of the formy = ax” to the following

data. (7)

x g 7 0 Joo |0 |60 80 |
¥ 43 25 18 13 8 = 3 2

(b) Find the points of maxima or minima for the data

Of (xv Y): (_1:6); (]s—4)7 (3110) (3)

6. (a) Solve the following ordinary differential equation

using Euler’s modified method.

o Ry
dx y+x

with initial condition y(0) = 1. Calculate

the value of y at x = 0.04, taking h = 0.02. Perform
three iterations at each step. (7)

A2
(b) Show that (ij2=2h2, where E is shift

operator, A is forward difference operator and h.
is increment in x. : (3)

(500)
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“Year’: [2001, 1992, 1997 2005, 1992, 2001]

¥y
‘Population’: [5.2, 1.8 8. 1.2, 2. 5]

}

df = pd.DataFrame(Data)

Answer the following :

(a) Rename the indexes as “One”, “Two”, “Three”,

SFour”, Five”, “Six”

(b) Add another column in the Data Frame “Extra”

having values True corresponding to state ‘Delhi’

else False.
(c) Name all the states with Population more than 2

(d) Drop rows ‘Three’ and ‘Six’.

SECTION B
(Attempt any 3 questions)

(Parts of a question must be answered together.)

3. Consider the Dataset given below : (1+2+l+1=5)

8 e
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Name Nationality Sex Age Handedness
Neha India Female 24 Left
Rahul India Male 28 Right
Katherine USA Female 32 Right
Zenitsu Japan Male 16 Left
Linda USA Female 28 Left
Mikasa Japan Female 22 Right
Aryan India Male 42 Right
Gabriel USA Female 32 Right
Kiran India Female 20 Left
Shishir USA Male 40 Right

Answer the following using Contingency Table:

(a) Find frequency distribution between Sex and

(b) Find relationship between Sex, Nationality, and

(c) Normalize the table in part ‘b’ over each

Handedness

column.

Handedness. Also, display total.
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. Laﬁ‘
(d) Find the average of age 10 part

4. (a) Explain a few ways 10 handle missing values.
(2)

(3)

(b) Consider the following DataFrame :

df = pd.DataFrame([('bird', 2, 2),
('mammal', 4, np.nan),

(‘arthropod’, 8,0),

('bird', 2, np.nan)],

index=('falcon', 'horse', 'spider’, 'ostrich'),

columns=('species’, 'legs', 'wings"))

What will be the output of the following

statements?
(i) df.mode()
(ii) df.mode(drop_NA = False)

(iii) df.mode(axis = 'columns', numeric G
True) P B

P00,
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5.  Consider the following Series: ()

SR = pd.Series([8, -2, 6, 4. 3, 0, 6, -1], index = [0, 3,
4, 6, 7, 10, 12, 14]) Find the output of the following :

(a) SR.rank()

(b) SR.rank(method = 'first’)

(c¢) SR.rank(ascending = False, method = 'min’)

(d) SR.reindex(range(6), method = 'ffill")

(e) SR.replace({-2: np.nan, 6: 0})

Consider the following (df): (i +2+2=5)
:.o Restaurant Name Location User Rating User Review
1 Sky Bar Hauz Khas 34 Good
2 Diggin Chanakyapuri 42 Very Good
3 Cafe Dori Nehru Place 40 Very Good
4 Art of Dumplings Connaught Place | 4.6 Excellent
5 Flying Saucer Connaught Place | 4.0 Very Good
6 |Imperfecto Hauz Khas 42 Very Good
7 Sutra Chanakyapuri 44 Excellent
8 Dunkin Donuts Nehru Place 38 Good
9 Wrangler Connaught Place | 4.8 Excellent
10 | ChaBar Connaught Place |4.2 Very Good




7

Restaurants according to their

1669

(a) Group the
locations and find the restaurant with the highest

rating.

(b) Make a world cloud of column User Review. Also

use ‘Bad’ and ‘Very Bad’ for Stopwords.

(c) Plot Box Plot of User Rating in Data Frame df.

7.  Consider the following list : (5)

x1 =[32, 21, 65, 89, 33, 23, 22, 40, 21, 32, 56, 45, 44, 38, 52]

(a) From ‘xI’ create an ndarray ‘x2’ with 5 rows and

3 columns.

(b) Find Mean, Variance, Median of data in x2 along

the rows.

(¢c) Find cumulative sum of rows in ‘x2°

(d) Sort the data in ‘x2’ along the columnps.

% i
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values §rORE than 40 in ‘x2
- With 0

pd (e) Replace
» function-

using ‘where
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Sin[x] . x>0 js
: the synta* ’
(i) Output of

. . A + B gives the usual matr;

X : hematlca, Tix
(i) In Mat e matrices A and B.

; multiplica
:& (iii) Output of the syntax Reduce[x? == 25] is
g | - -5

:f'é_ X

b: (iv) Output of the command %‘- in Mathematica is

-

erical value of the last output can be

t[f[x], x - 0, Direction — 1]
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Attempt any four parts from the following :
(2.5%4=10)
(1) Write the syntaxes to plot the graphs of the

following functions :

(a) f(X) = + logx, g x £ 5,
(b)k(x,y)=\/;+\/—, Qe xsd, 02y<5.

(i) Discuss the use of round, curly and square
brackets in Mathematica. Write a single syntax
using all of these brackets.

(i1i)) Explain the significance of the command

FindRoot in solving general equations.

3 & ’ . ? Li)' &Y i3
2

(iv) Discuss the use of ‘= R S |

Mathematica.

(v) Explain the significance of the command Apart
when working with the rational functions.

(vi) Write the output of the following commands:
(i) Solve [ax? + bx + ¢ == 0, x] // Grid.

e i — ¥y == L'x +y == 2}].

3 Write the output of any four parts from the

following : (2x4=8)

() Table[0, {3}, {3}] - DiagonalMatrix[{l, 2, 3}] //
MatrixForm.

o 50 0
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(11) TukelArraylMi“’ (4,411, —2l//MatrixForm.
Vo S
(ii1) mat=| 2 10 H
Ry -1
— 2mat;,;

mat/MatrixForm

(iv) Assuming [n> 0, Integrate[Abs[x],{x,-n, n}]].

(v) NSolve[D[8.01 + 12x—6x*+x3,x] == 0, x].

L2

n
-‘1 - ,x—0, Assumptions »>n>0]|,
)

(2.5x4=10)

metric expressions in

it i ;hc use of the
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 ". (iv) How to dis
| Play Mesh points on plot in any CAS?

i ' - (v) How to give differe
RN ge dlffmﬁt style to a text in any CAS?

(vi) How t :
‘ ( I 0% ta find nullity of a matrix in any CAS?




2119 4

4. Write the syntax of any four from the following -
(4x2.5=10)

(i) Write the command to sketch the graph of the -

function f(x)":WSK and find the second

~ derivative of f(x).

ion f(x) =1 - x between x =0

 get limit of function f(x)
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Sr. No. of Question Paper : 3360 C
Unique Paper Code =~ ;. 62273326
Name of the Paper : Understanding the Economic

Survey & Union Budget

Name of the Course =~ : BA (Prog.) SEC
Semester P
Duration : 3 Hours _ Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2.  Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper:

1 W YE-13 @ fer & 3R Ry ww FuifRe s w sw
g fefe |

2. T W -UF 1 IR Fon a1 B R v v ¥ S, A
BN IR @ AW vE 8 R 9k

P.T.O.



3360 - 2
SECTION A ‘
All questions are c0mpuigory'

and carry 10 marks each.

'MWW'EW'ma}m #F B

5 economy with the budget components (in crores)

x
¥ ‘:- "!

as gﬁllows - (10)
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(1) Revenue Receipts
(1) Capital Receipts
(1)) Total Receipts

(iv) Revenue Deficit

TWC UTH H Y Th feaen (FAs ¥) Pramer ffie
L £

- (i) W TTE = % 1426287

(ﬁ). W-F THE = T 207633

(iii) =N = g = T 19729

(iv) = wiftaai = = 37897

(v) 3ar 3R SP-T AW = % 1818291

(vi) =e =/@ = 3509836

(vi) UoFg @R W FHA DT = T 3083519

(7 weT W 2.5 I ?)

T
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ountry X rupees thousand
| (10)

ey TR S A e e
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External Commercial Borrowing (net) 10
Banking capital (net) = 17

Foreign Investment (net) = 75

Other capital flows = 30

Errors and Omissions = —12

Based on the above information, answer the following

questions :
(i) Trade Balance

(ii) Current Account Balance

(iii) Overall Balance

-

(iv) Whether the foreign exchange increase or

decrease and by how much?

(Each question carries 2.5 marks)

W X @ e S R A E we v ¥ g R
Frfafa 2

e = 4245

b 9
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(i) W & A
(i) o g |
(V) PR e} w e ¥ sk P

i (7% ¥ W 25 I ?)

"

SECTION B
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rrepe— S LR IR L DI R R P
W o aewa waEe W R w5

S. Discuss the measures taken by the Indian government
L]
. to keep a control over inflation over the last 2 years.

fed 2 ol & EEAfR W Fgaw @ @ e W s
T B g war @ R W=

‘l."‘ " il ¥
i - ¥

,
y'e

ion, domestic supply, crop
t 1e recent past in the agriculture

‘‘‘‘‘‘‘‘‘




-
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8.

10.

Throw light on the trends and composition of
merchandise trade in external sector of India. Also

list the top trading partners of India in merchandise
trade. ‘ (6+2)

m%m&aimmﬁaﬁmaﬁ?mmm
ORI oG AR ¥ g B AT aRE WEier @ S
Leler-akd

The Indian economy has recovered past its pre-
pandemic level. Whether you agree or disagree with
this statement. Support your arguments with different

statistics on macroeconomic indicators.

| WA Jeqaed 9 99 - HEM & & ¥ I g9l 2| AR

mmm%mﬁm_M|mmﬁmﬁm
Wﬁﬁﬁﬁmﬁfa‘»mﬁmﬁaﬁaﬂmﬁl

Discuss India’s progress on the Sustainable

Development Goals in recent past.
o & R ¥ @ad fEE T8 W WRe @t Wiy w ==
Ll

P.1.0.
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11. Explain the structur¢ of the revenue budget and the

capital budget of central government.

- _mm-ﬁéﬁm@tﬁm%@mmaﬁ

mﬁl

L]

SECTION C

Attempt any ome question, which carries 15 marks.

o §IT 59 I, ol 15 FHH F B

']

hnw Co-operatlve federalism may

% _ '

{ stablhty with sustainable

_ﬂmm TR FFA

o ——

[ SEETRE LTS
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13.

Explain how the  fiscal policy has remained a

significant tool for addressing the economic fallout of

the pandemic? What are the stimulus measures adopted

by Government of India amidst an uncertain evolution

of the pandemic situation? -

TG B R e o e w ®
SR T R
&t Rafy & sffiee 9w @ @9 YRT WER B FTEY
A NeqET IIE T 27 |

14. Provide detailed notes on the following : (3x5)

‘ ’(a) Gender Budgeting

(b) Agricultural Marketing

(c) National Infrastructure Pipeline
i W fgE AT T &
() Wet =T

P.T.O.
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10. .

Fog AT B w A A GUREE, 7 fiweh ar feen &
fadt g quEed & AN FTga &1 9o i

Delhi, as the Capital of India, witnessed different

culinary joints of regional food. Describe the statement.

fReel, R & awuE BN & #wu Frafaw WeHl @
Qs - &ell &1 el 81 36 &Y & g Filforg

Write short notes on any two of the following:

feafafes % 4 el @t w =t oot faféaw
(a) Indian Museum, Kolkata
IRaw waformw, Fewm
(b) Surajkund Craft Fair
wase e e
(c) Heritage Walks
fawrem &

(d) Light and Sound shows

Y 3R Aty wmrRiww

(5000)
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Course B.A. (Prog.) Part-11, CBCS

UPC . 62443301-SEC

Sem . I1

Title 5 Elements of Indian Music

Max. Marks - 38

Hours - 3
1. Write your Roll No. on the top immediately on receipt of this question paper
2. Attempt five questions in all, .Question No, 4 is Compulsory.
S

Answers may be written either in Hindi or in |
followed throughout the paper.

1. saw—w%fuaﬁﬁw&qmﬁuﬁmmwmmw|
2. = uta w iy T HEm 4 sfam
3. mﬁwﬁﬂmwﬁm&zﬁﬁﬁﬁ:@@wﬁaﬁqmﬁwwﬁmmvamﬁémmﬁﬂ.!
1. Write the biography of M.S. Subbulakshmi. 7
- UH. TH Hegoredl A shaehr R
2. Give description about any three of the following- AT
(a)  Swarmalika i
- (b)  Alankar
(¢) ~ Vama
(d) Laya
(e)  Saptak
FrfefEa & 3 el @ ¥ Rvg & aom -
&. FarATfoE
. IAHR
/. qot
H og
§. HCdsh
3. Write an essay on any one of the following topjcs- 7

() The influence of classical music on fi

Im songs.
(b) Importance of fine arts in life

ﬁmﬁﬁaﬁﬁmmﬁwwﬁwﬁf@m
F. M(ﬁw—c’)wﬁww@u 0d & ywrg
. sﬁaaﬁaﬁamaﬁmﬂac—d

s

: be
nglish but the same medium should




4. Write the Thekas of : ‘
of the following Talas along with Matra, Vibhag, Tali and Khali. 10

_(a)  Teental
(b)  Kaharwa o

'mmu‘twm
% mmmmmmaﬁamn
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Sr. Na. of Ques'tion Paper : 3397 B

Umquc Paper Code © 62136949

Name of the Paper Basic Elements of Ayurveda

Name of the Course : B.A. (P), SEC
Semester | : S
Duration - 3 Hours Maximum Mnl‘ks X

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
~ of this question paper.
i 2. - Unléss otherwise required in a question answers should
. be written either in Sanskrit or in Hindi or in Engdish,
but thc same medium should be used throughout the
'paper
1 ,'There are total 6 questions in this question paper.

:Attempt any 5 questions. Each question contains equal
-marks.

: -ﬁ.&mﬁ&
_i mmw%ﬁa&ﬂmﬁqwﬁuﬁhmwm
' agmmﬁ-rmi

-

a0
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2. Yl HEWEF T BN W, wmmmmmﬁaﬁm

m&:ﬁtww%w ﬁmwmmmw&-,_
e ARSI

A mmiwomflzﬂ%%wsmﬁaﬁﬁq-u'.".',
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Sr. No. of Question Paper : 3423 C
62081339

i
i
:

: Hindi Gadya Udbhav Aur
Vikas (Hindi-A), SEC

- B.A.(Prog) Functional
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2

2 29 ¥ TR - T W B I TR TR E
&% W, I QA B A8 @, q AW H Al F7qT

Tl S N e T TEE B, A IA H AN A WER
% fifeeaa & 6 B T @ Ger A T A A
& whw 2 IEN TN F A @ A o
& R 3R Saa A -w= @) W 27 A S
& 2, WiE 2. R W @i A wE T A g 2 T
I e @ B T R AE @ AR AW qwe

34
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3

St A O |l U AR sudT | A F R, g o fE
¥, fe ¥t 3o 3T TR W 30 T e ? TEE gl
H R Y TEEE F SN S 3 AF SO AT R
WA W G A I AR I de o faar i °F &
My 39 G &t ueiten w6, W9 9@ g3 &l
FRT A e g3 W =N F 3w fian I s fF
& fore emm wAm!

oo A JavE B | FE T A6 2 fE sed
T FfrE T T RN T SEE T s
W AT IAS - TSI WRAE W-WuA F fUed weR
Ul I SE S AEA 2| FAT IE FAE T WA F
ot N? TEead T A B T A 7 wiEar = A
T N7 A, A AT TE GG WA AR FE B W
W e o g8 B v o e Fes O @
¥R IR WA A T FE W o | g 3 e
A FH T

§3-0.
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ot I A FAC A FAR I WA S A
RO @EAEr e @1 BN A SEET B S U 2

e ey R

o ik

3R F@ W H HYA W AHAEH A




‘R FEA @ A wew @ e weEa S
(12)
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Your Boll No..isscosevess

Sr. No. of Question Paper : 3424 C
Unique Paper Code . 62081340
Name of the Paper : Hindi Gadya Udbhav Aur

Vikas (Hindi-B), SEC

Name of the Course : B.A. (Prog.) Functional
Hindi

Semester - 1 |

Duration : 3 Hours Maximum Marks : 75

g ;3 e quiis : 75

5 i e o (L s 0

1 =¥ UE-9F @ e & Fw Ru ww Ruita == w s
Fma ol |
2. % g JHEE 2l

1 B8 A ffem g wowew wifem

¥ 1.90.




3424 2

RS FEAl @ WEY H WL FHOQ | (12)

o ‘IEX wE A FEA ® IMUR W TA RE = wRy fgy
Eaimid

‘F@ FTH FEA W A e W AR Fw 1 (12)

3 fEu = 99 & R | ‘A &1 e’ FEy =7 Haam
Fifog|

‘mmﬂa’%mwgﬁmﬂwﬁaﬁmg&
= W HRw | (12)

4. ‘afézmr&’ma%wmﬁwwﬁanaﬁﬁfql
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MfafeEr w wRa few it (12)

5. st @ &t awmn = Fifowe (10x2=20)

(1)

(2)

memﬁ:aﬂztgﬁ%ﬁﬁ?mﬁg@
ST B, T T & awE SR A w21 A
H T OGO FEA IR WY T 2 A A
FUX ¥ 701 B waw waw ¥ ;@ wn IRE v
SR W fER S wewm e @ A S
BT U N TR o TA ol AgA ¥ A5 w0 Ao
frar 27

S W T A A, TR F AT wE F Agy aw
ﬁm@mﬁmmﬂwmm%,aﬁ@
TE W - oA AT I Y wR nwfé#
aﬁ%mmaﬁmﬁm%ﬁ%,w
@ d@ 4

I T T A AR gEae B TS aw @ A
god e wE B A= ok fom awRe hee

A vE A8 dwerm A gie @ Ak R b an
m%amwmﬁ%m,ﬁ‘s—qﬁ% TS B FeT,

g ¥ R




4

qor- fven ATHES FR A A @R R g s
w e 7 IoFI, WA S w e sk v
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Your Roll No.....covvaeenns
Sr. No. of Question Paper : 4397 C
Unique Paper Code 12033916
Name of the Paper . SEC Applied Gender Studies:

Media Literacies

Name of the Course - ENGLISH
Semester = KHI/V
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Students with visual impairments may centre their
answers on the non-visual elements of texts in the
course.

Part A and Part B are both compulsory. Attempt any
Three questions each from Parts A and B
respectively.

PO
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2

PART A

Attempt any 3 questions (3x10=30 marks)

Are sex and gender roles fixed or fluid? Clarify

your answer with suitable examples from your

syllabus.

How do Meena Kandasamy’s poems counter
hegemonic narratives of gender and caste? Discuss

with examples from poems in your syllabus.

What are the challenges faced by Indian masculinity

according to Dasgupta and Gokulsingh?

Comment on how globalisation has affected gender

representations in media according to Maitrayee

Chaudhuri.

Discuss with the help of the prescribed text
from A. Revathy how heteronormative ideas
flow through various structures including family

to create discrimination and violence against trans

people.
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PART B

Attempt any 3 questions (3x15=45 marks)

6. What are the differences between how documentaries
and feature films combat gender normativities?
Compare and contrast any one documentary and a

feature film from your syllabus.

7. With the help of any three suitable examples
from the texts prescribed, discuss how ‘personal
choices’ are very often choices produced by

pre-existing structures of caste, class and gender.

8. Can patriarchal sympathies and gender bias colour
the reporting of news? Give a reasoned answer using
suitable examples from newspaper and television
journalism that you may have explored as part of this

course.

9. Does the Bechdel test remain useful in the analysis

of contemporary cinema? Justify your answer with

P
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close reference to any three films you have explored
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Your Roll No...............
Sr. No. of Question Paper : 242 '
Unique Paper Code . 52413301
Name of the Paper . Cybercrime and Laws (SEC)
Name of the Course : B.COM
Semester oM CBCS

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2 ‘Attempt all questions.
3. All questions carry equal marks.

Answers may be written in English or Hindi but the

4.
me medium should be used throughout the

sa
paper.

ﬂg_fﬁmﬁ_@
< g @ B B IR T R v g
ggaiﬂfﬂ*ﬁﬁat’l

1

o A5 7




2 W e g 2
3wl g 3§ @ 3

4 3G yw-v7 @ I K a1 BE A v s F AR,
- ofET o I @ e uE & B =g

¥ m&r Fiforg1

d? Discuss various types of
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 F . ¢ ri: ’
(a) Differentiate the term Cyber teITOrISm’ ang

m’ with suitable examples.
e IT act 2000

‘Computer vandalis
Explain the suitable sections of th
which may deal with such offenses: (9)

T A FW Te Hfw sEd 2000 F
Wmﬁ#mﬁﬁqﬁ@m%ﬁw
aEa 2

(b) Write short notes on Resource Centre for cyber
forensics (RCCF) (6)

A WRRE wEee % (RCCF) W @fea e
farfae '

2. (a) What is Internet? Is the Internet Differ from the
Web? Discuss the various types of Internet. (8)

v vl @ o= Hir

(b) What isl a digital payment method? Digcyuss the
security precautions to be followed while making
digital payments. (7)

P.T.O.
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_ quﬁwt?ﬁﬁrzawmﬁm
mliﬂﬁﬁqaﬁwmﬁfﬂtﬁﬁl

OR

“ ¥
LI
e b
i

e
T
s AT = ‘.'-..4 b
] L L -
- Ta gt
= J iy

» at is 2 cashless economy? Discuss any five
ital payment methods applicable in India. (8)

' ,,ﬂ




OR
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4 (a) How is the controller of certifying Authorities
appointed under the IT Act? What are his

functions? (9)

mm%mmmz%ﬁdmaﬂ
fgfam @4 it 9 37 JE@ FE = 87

(b) Distinguish between Private Key and Public Key.
Explain its functions also. (6)

ot ot IR FEeEE S & A" S Fiw 6

=
-
et £a

b

), what is the punishment?
(15)
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5. (a) Discuss the procedure and powers of the Appeliate
Tribunal (AT). Explain the provisions regarding
the appeal made to the Appellate Tribunal.  (g)

e = (T8 o i A AT T
R e S A o 7 F0E B a9 A AR
& e FHifem)

(b) Explain the provisions regarding time and place of

dispatch and receipt of electronic records.  (7)

TS RS & Juur 3k wits & &g 3R = 3
FEY § WEUWl & ARl St

OR

Freran

(a) Distinguish between ‘Contraventions’® and
‘Offences’ as per Information Technology Act,
2000. Is ‘hacking with the computer system’ an
offense under the IT Act? (8)

g Aefe sffe, 2000 B IR Geggr 3w
‘g’ ® A FR A T IR Sy @ pa
‘Fge? Reen & T T Fwoy

P.T.O.
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| -Sectlons 65 and 66 of the Information Technology
~ Act, 2000. A ‘ )

2oealﬁtaméssﬂt 66*
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Sr. No. of Question Paper : 4280 C
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Name of the Paper Bhartiya Sahitya ki Sankshipt

Ruprekha (SEC)

Name of the Course : B.A. (H) Hindi

Semester N

Duration : 3 Hours Maximum Marks : 75
Bl » oo Adw

1 wm—ﬁ%ﬁaﬁﬁm&qmﬁuﬁ%wmm
Fgwaa farfae |
S, AR ok WFR H sy @ e @ (1)
mmﬂmaﬁwm@wm%
IR Teal wr faRaw |

2. difhs Wt ¥ = s 27 Sifa aRw N wo ¥
e AR s w | (12)

Fear
P.TE




Ny Witw w1 wEr W wA G FIHE W @ A
weeal v o uftan AR )

3 omgfre 7 s s qed Al 6 R R
(12)

(3000)




sstion paper contains 4 printed pages.]

Your Roll Nowoians

: 1471 #

: 42343503

: Web Design U;ing HTMLS5S
(SEC)

. B.Sc. (P) LOCF
.V [Admission of 2019 onwards]

Maximum Marks : 25

atic and Dynamic web
le example.  (2)

2)
the text

()

P.T.Q.
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(d) Write the CSS code to change the width of a
sidebar to 150px and make the sidebar float

towards the right. 2)
(e) Given the following code :
ol <li>English:<a href="abc/chapter] html">Chapter </

of <a> to change to green
electors. (2)




’t
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r

E N) A submit l_um with the title “Submit

4] Mm “ m \mdantand by a site map of a
~ . uldu Explain with an example. (2)

¥ - Write an HTML code to design a 2-tier navigation
mmuhm list structure shown below :
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———r

‘This frame should display

information about the option
in the left frame, when

user clicks on that option.

-"','f__‘t}'_ ”*m' ‘ m code to change the following

: @ ﬁi m to color “Red”.
‘ : 1¢ to font size 20. (2)

nsert an image in a web page. Write
m an image rollover.  (3)

yde _@ Mgn the following
(2)
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estimated at 30, 35 and 25 million kWh. The pri
ICe

T mtlhon kWh at the three cities is given ip
. 5 : e
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Destination Supply

ocessing costs are as given
_Find the allocation that

processing cost.
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(ii) In the network shown below, find (p, flow
pattern that gives the maximal flow frop, nod
¢

it A (source) to node D (sink) where the ate

ities are mentioned on respective arcg

(6)

» Company is in the process of

service to new housing

(6)
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(6)

| jﬁﬂﬁw ing
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(a) Develop the associated network for the
project.

=,

nine the critical path and critical

() Deten

ry Wiy i

., W‘Wﬁes for the project. (2+4=6)

', er factories X, Y, and Z located at

. pes of the country, produce 6, 4, and 5

urea respectively. Under the directive
Government, they are to distributed to
BaNC 8s 5, 3 and 7 lakh tones
portation cost per ton in rupees
: (5+5=10)

16
14

15

Z‘fﬁ ﬁnﬂ the
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4. Attempt any one of the following : (10)

(i) Find the shortest route from node 1 to each other

nodes using for the following network given

below. Also, write down the route as well.
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-:vﬁ;i‘f "*" &% ;

g

$#(x) are continuous functions, from the figure
“'f-.:; V between §(x) and x determine the degrec of the
polynomial f(x).

continuous, ducuu the graphical
1 Secant method for convergence

be minimum number of iterarions
B 80 accuracy of 0.0005 in an
1g bisection method

Xamples, distraguish
roud-on' error.
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(g) Starting from the general quadrature formula for
numerical integration, explain why area is bounded
by straight line only in trepezoidal method.

2 (a) Construct a backward difference table, y = log x
S W given that

30 40 ’ 50
1.4771 '1.6021 1.6990

alues of V21og40 and V4log50.  (5) N

consider

£ |
rule to evaluate _[0

I+x2

(5) vl

sec(31°) for the following
(5)

33 34
0.6494 0.6745

s in the following table :




4

' (a) Starting with x, = 1, perform four iterations of
Rt ";-;ﬁm,ngphsgh_:s,,mﬂh.@,d for the polynomial p
. ,,,(53..-‘-“3 : 2x2 + 3. Tabulate your results. (5)

'

uce Newton’s forward interpolation formula.

ve y = ce® is fitted to the following data.

3 r 5 6
13.9 40,1 125.1 299.5
est values of ¢ and b. (7

: ymbolic relationship E = 1 + A between
operator E and forward difference
Verify with the help of an example.
(3)

value of y using Euler’s modified
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Sr. No. of Question Paper : 2005 C
~ Unique Paper Code 1 62343502

: Open Source Softwares

B.A. (Prog.) SKkill
Enhancement Course
sV

Maximum Marks : 25

's from Section B.
el

P image is bigger
(1)
0X appears



—
2005 !
(i) A variable is declared inside a procedure. (1)
(a) Global
(b) Local

(¢) External
- (d) Internal

at value will be assigned to the numeric
ble X when the 1 following statement is

3 97 gl W) o
T S

X=2+3*4"2 1)

'_ 1e file extension of a GIMP
: (1)

an image in

(1)

e Becall
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(a) Using linuxconf
(b) Using adduser .
(¢) Using useradd
(d) All the above
(.i__"".f.,) l:a whmh of the following directory does the
iguration files are present? (1)

used to display all the files
s in your current directory

(1)
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(¢) /etc/password
(d) /root/passwd

SECTION B

2. (a) Explain the three advantages of open-source

softwares. (3)

(b) Which two licences permit the commercial use of
open-source softwares? (2)

3. (a) List any three tools used for changing the pixel
arrangement in an image in GIMP. (3)

(b) What is the difference between a guarantee and

a warranty? (2)

4. (a) Compare the licensing schemes GPL, LGPL, and

MPL in depth. ) (3)
(b) What do you understand by Layers and Masks in
GIMP? (2)
(a) Describe the term superuser and its role. (2)

(b) Explain the Linux file system in detail with the
help of a suitable diagram. (3)

(a) Explain the GAMBAS Architecture in detail with
the help of a suitable diagram. (3)

(b) Highlight any two applications of GAMBAS.
(2)

(1500)
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. B.A. Programme
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tion problem with

nations and data as

r.1.0.




D E F S“;r
8 7 8 16
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itial basic feasible solution using
- cost method and North-West

solutions obtained in (i).

(7)
=20 units, X,, = 55 units,
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If not modify it to obtain a better feasible
solution. (7)

(c) Obtain an optimal solution to the following
transportation problem: (7)

W, Wy Supply
4 5
1 8
7 7
2 14
18

ing a single product and is

> agencies situated in different
, there is a demand for the
cities not having any agency
pany is faced with the
n how to assign the existing

to needy cities in

$.1.0.
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such a way that the total travelling distance i
minimized. The distance between the surplys and

deficit cities (in km) is given by :

12 17 15

14 19 10

ssignment schedule.

(7)
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F-fr_o - To city
meity | 1 i 111 v v

1 ) 120 | 220 150 210

I 120 w 80 110 130
LU 22 80 w | 160 185

ﬁ 110 | 160 ) 190
o S 130 | 185 190 w0

: - path, a cycle, a tree and a
termine the sets N and A for




i

~ on the arcs. Arc (3, 5) is directional, so that !
|  traffic is allowed from node 5 to node 3. All (e |

- other arcs allow two-way traffic. (7) |

certain project

(7

Time duration
(in weeks)
. 3

& 5
7

10

B
o
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(i) Determine the critical path and Critical
activities for the project network.

4. (a) The network in the following figyre gives the
permissible routes and their len

gths in miles
between city 1.

{node 1) ang four other cities
(nodes 2 to 5). By using Dijkstra’s algorithm, .
determine the shortest routes between city 1 ang
wc;h of tha‘remammg four cities. (6.5)

lanning horizon. At the
n is made as to whether
operation or replaced. A
minimum of | year and
)Wing table provides
unction of the year a
ber of years in
network in
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Equipment Replacement cost ($) for given years in operation |
acquired at start 1 2 3
of year

4000 5400 9800
2 . 4300 6200 8700
3 i3 4800 7100 -

N o T R I o R —_
L LAY Aoi by j =t g - ? —— - —
A it o R $5 E
=) = ¥ i =g s -
3 s al TR PELE .
'),.‘ £ otn) P4
£
: " o t.-p g_\‘ i)
3 u‘,
s,

’ i tlme (t,), pessimistic time (t ,) and
(t ) estimates (in weeks) for the
RT network are given as follows:

b

26 14

AT 10

17

line critical path,
ta the standard

,f';»; , (6.5)

=+
R
=
M L0
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B
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2. Discuss the criteria for ;él'écting a research topic.

M A« & A @ i A

OR

technique used in field survey.
nd demerits.

et i R A
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a hxpgghetiegl survey on-any urban theme
T ionnaire technique and also justify this
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Q@ you agree with the view that Popular Culture is
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5. Do you think that ritual traditions reflect the cultural
diversity of India? Elaborate.

w1 AT A 8 R enfie gy s o aregfae fafae
iR ¥? e awen 9w

aphy determine the development of
uisine of a region? Explain with

ignificant centers of culture
al activities. Elaborate.
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9 How does popular cinema impact the family,
and human relations in Indian society?

*-mmimmm st forare wemsly # g
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Write the summary of ‘Reswagdammmaar i, your own

words.
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(w) @& ? m @E w0
(i) T it ¥ Fol &1 waw vERdg war 2
(i) 231 wiRfeafiat o ¥ v Iaes wEE @ w9 A 92 3
(iii) SR FSl WA w qRaReE F qarE il FE S 2
(iv) PM,, &t = F PM, o W31 =@ 2
(v) A o= sreaftren Ieares aftfeafas @9 2

Write short notes on any two of the following : (5%2=10)

(a) Ganga Action Plan

(b) Harmful impacts of mining on environment

(¢) Ecosystem services

frfofes & ¥ Bl @ w ow i o fafi

(&) T vEmE W

(7) WA W EE A EfAERE

(a) What is land degradation? Briefly explain its causes” (5)

(b) Discuss the social, economic, and environmental impacts of
(5)

desertification.

(3) oft e 27 TR FwRON F) w8 F qe ?

(@) el & aefae, s st wataria v o ast w
Critically examine the various reasons due to which rivers in India continue to
remain highly polluted despite various government initiatives and legislations.  (10)
faftr s weal sl fauml & aaee wwa ¥ Afeal seafie wefim 219 @ e sl
N AT TR F |

Part B

(Attempt any two out of three questions.) (= ¥ ¥ ®¢ & wo=r Fifo)

Given below are three out of the seventeen Sustainable Development Goals (SDGs)

formulated by the United Nations in 2015,

pwt,!h-!bk.llfvﬂepmenl Goal | Deseription
SDG 2 | Zero Hunger End hunger, achieve food security and improved

nutrition and promote ble agriculture

|

SDG 6 Clean Water and Ensure availability and sustainable management of
e | Sanitation water
I SDG 11 Smla:mble cities and | Make cities and human settlements inclusive, safe,
communities | resilient and sustainabl |

Select any two SDGs and briefly discuss five steps (fo;éé;'}} S.i)(}-) that need to
be taken by any country to achieve the same by the year 2030.
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,-\""3 T R A A 2030 FF T4 WA FA & forg A o 29 @ I
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rich has a vast coastline and is situated near to the
 on the coal consumption of this country, which has
re the government has also planned to substantially
t zero by year 2050.
Al e 7z Y ? sl s@e Y @ fwe fom 2w
et 2, fomd #rga =1 famm siew ? AT a1
AT Y T I FE A A a2

‘oal usage (million tonnes)
g £1 ava (& feae =z

v ic Wil nmen t ‘conditions. (4)
s that the country i@ptto substantially reduce
pollut ‘@gﬁzmv . 3)

ke ‘gfi s
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(1
features of this ecosystem. 3)

(6)
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(@) & ? o wwa qam

() 99 T ¥ 15 qaw fww weg AR fHu 2
(i) il ®Y R qw wnfes @1 va sawm 2
(i) € - o AR T A 2

(iv) S e IR wRw T A ga o

(v) X st e wRfeat 5 2

: s 4, - Write short notes on any twe of the following :
(¥ Primary succession on barren land
eF ot r water conflicts
inary nature of environmental studies

" Rt (A @y =2)

(5%2=10)

afd1}2

genic causes of deforestation. (5)
: of mangrove forests. (5)

o & =rE #ifa)
At o

asures that need to be taken for conserving
ropolitan cities. (10)

ISR A A A e i 3o o st

ee questions.)

the creation of manufactured
cesses that minimize negative
energy and natural resources.’
ility framework for an autometive
suggesting at least two sustainable

-
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] Suggested Measures (atleast two for each parameter) 7

AT 70 Y77 (7EAF et ¥ fom Fw A

'miHL__LL

ge eco-club, you have been given the responsibility of
micomposting unit in your college campus. Prepare a
e discussed with college authorities, focussing on the

f composting/ vermicomposting. (3)
Gnmmstmgl vermicomposting on the college

(3)
functional composting/ vermicomposting
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Jackrabbit

{ {f,'f‘ \ﬁ!;-..

Mot '
} " ; wl. g
I.fa‘\h' o |N"l 1(\‘

Butterfly = fRa+ft, Coyote = afzm, Flycatcher = #tzare
, Pronghorn = W=zf+ 274, Hawk = ar#

m stating appropriate reason. (2)
d abiotic features of this ecosystem. (3)

) consisting of all the organisms shown in the
(3)

of this ecosystem. 2)




[This question paper contains 8 printed pages.]

NREE Wil No.cimsenssss

Sr. No. of Question Paper : 1998 C

Unique Paper Code : 72182801

Name of the Paper - Environmental Science

m of the Course . Ability Enhancement

AN g Compulsory Course-l
s M (AECC-I)

Maximum Marks : 75



a8 % o 1w ¥, A @ A o







tal

ironmen

Act and Env



1998 5

(1) Marshes and Floodplains

(i)  Renewable Energy and Biofuel
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(i) Transboundary pollution and international law or
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hn

A aafiee wEuH @ 9 @9 gwEd B 7 ged 3 starfae
FR & IhE W&y 3R fAuew & oo smavgs 3wl &6
quiq &ifaTv|

Explore the factors contributing to the rising number
of flooding incidents in different Indian states. Further,
consider disaster management's role in reducing the
effects of floods (15)

fafy=r st ol § we o vest @ wed wen ¥ shee
T A FRE F I | FHR HA, aE Ayl
H A FIA N AT gEA D ufE W REw a

Elaborate upon the recent initiative undertaken by

Govt. of India to protect environment and biodiversity.

(15)

HRA R g7 e AR oia fafauar @ wn @ fo e
g A & 1 Tsd W faER |

Nuclear energy has potential to revolutionize the
energy sector in India. Comment. Also, suggest some
measures to increase safety to environment and
humans while adopting it as the sole source of energy.

(15)

PoEXT.
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m;ﬁfﬁm*mﬁﬁiﬁmaﬁaﬁm%lﬁw
m.wﬁ,ﬁm%mﬁaﬁ%mﬁmﬁg
qatawn 3R w & fov gen wem & @5 3um guey

8. “Humans and wildlife can coexist if we adopt our
“ancient philosophy of dealing with environment.”
Justify the statement using suitable examples. (15)
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Did you know that humans aren't the only specie
S
that use language? Bees communicate by dancing

Whales talk to each other by singing. And some apes

- talk to humans by using American Sign Language

- Koko must have been a good

ears later she moved onto the

I 5 and that Koko
ko didn't know
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, 1. Comprehension Questions:

(2)

at has she learned from Dr

(3)

” Y £
e B e e e e st
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3507

4.

vou are Dr Patterson. Write a letter to your frieng

telling her/him about your experiences with the female

gorilla Koko. (10)

Write a summary of the above passage in about 60

words. (10)

Part B

Read the following passage and answer the

questions that follow: (15x3=45)

Philosophy of Education is a label applied to the study
of the purpose, process, nature and ideals of
education. It can be considered a branch of both
philosophy and education. Education can be defined
as the teaching and learning of specific skills, and the
imparting of knowledge, judgment and wisdom, and is
something broader than the societal institution of

education we often speak of. Many educationalists
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consider it a weak and woolly field, too far removed
from the practical applications of the real world to be
useful. But philosophers dating back to Plato and the
Ancient Greeks have given the area much thought
and emphasis, and there is little doubt that their work
has helped shape the practice of education over the

millennia.

Plato is the earliest important educational thinker, and
education is an essential element in "The Republic”

sophy and political

¢ believed that

n ST S - B &
q e S My e ey
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produce good and virtuous citizens. He proposed that

teachers lead their students systematically, and that

repetition be used as a key tool to develop good habits,
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assumption that university-educated philosophers were

necessarily wiser than uneducated farm workers.

You have been invited to speak on the kind of

education that is most beneficial to human beings.

Write a speech on this topic.

You have been asked by your magazine editor to
interview Plato, the philosopher. Write the interview

questions you wish to ask and the responses to them

t0o0. (15)

Your friend and you are discussing the thoughts of

different philosophers on education.

Write a dialogue about your discussion in which you
favor Socrates and Montaigne and your friend favors

Aristotle and Aquinas. (15)

g B R







